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1 |deiEE 2.2E+4 21,641.8
2 |EHE 2.3E+4 23,460.5
3 |EFR 5.2E+3 5,194.1
4 |EHE 5.6E+3 5564.9
5 |MHEE 1.3E+3 1,268.5
6 |ILEE 2.3E+4 23,193.9
7 |BER 3.5E+3 3,525.0
8 | &R 5.2E+3 5173.3
9 AR 1.5E+3 1,493.7
10 |HER 8.9E+3 8,948.4
11 |BER 4.7E+3 4,708.3
12 | FER 1.5E+3 1,465.1
13 | ER 3.4E+2 3396
14 [#E)IE 4.0E+2 396.0
15 [FiRg 1.2E+4 11,535.0
16 |EWE 2.3E+3 2,307.5
17 [BINE 1.6E+3 1,606.4
18 [EHE 1.0E+3 1,008.8
19 [ILRE 3.9E+2 392.6
20 |REHFR 3.8E+3 3,801.4
21 |IRBR 8.1E+2 807.9
22 |F5ER 1.3E+3 1,263.0
23 |BHMIR 3.6E+3 3,642.0
24 |ZER 7.8E+2 778.2
25 |HBR 6.1E+2 608.1
26 |FRERAT 6.8E+1 68.2
27 | KBRFF 1.3E+2 129.0
28 |EER 1.8E+3 1,771.3
29 |RRER 8.3E+1 82.7
30 |FnFLR 2.0E+2 199.6
31 |BWE 1.5E+2 147.8
32 |GRE 1.1E+2 114.1
33 |RILE 5.4E+2 538.4
34 |[LER 1.9E+3 1,939.7
35 |luOg 1.0E+2 2.9E+0 105.9
36 |EER 31E+2 309.3
37 |BINE 1.1E+2 114.2
38 |BER 1.8E+2 178.3
39 |=HE 5.0E+1 499
40 |$ERE 8.7E+2 872.4
41 [EER 1.1E+2 105.3
42 |RIGE 5.0E+1 495
43 |REXR 4 6E+2 4571
44 | K7 R 9.4E+1 94.2
45 |EIBE 1.2E+2 121.7
46 |EREE 2.7E+2 2725
47 | HiEE

2F 1.4E+5 2.9E+0 141,845.1
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